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NEMN)SHOE—aviETSE 1 = 5,975,000
HlESIZE 1 =® ¥-520,455

INEE ¥5,454 545
HER ¥545,455
& ¥6,000,000

L]

1/9




No. £ L | ¥OE|E A B & #
REETE
RIgHLE 1.00] & 15,000 15,000
RER 15 ERET 1.00[ = 15,000 15,000
REMRSE BHEST 1.00] = 50,000 50,000
SIEELYY—=2T 1.00] =& 80,000 80,000
ait 160,000
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No. £ M i ] A B EHE | B & 8
fRAETE
BREHEgE 1.00| &Fr FI /A
BE— AR 1.00] = 100,000 100,000
BE7F R BA S 4.00| R 5,000 20,000
BAIH—RyHIHL 80.00] m 500 40,000
REMULSE RIAbR—F, BEF 22 1.00] =t 180,000 180,000
B&EH TE#EHA 1.00] = 40,000 40,000
B A 1.00] = 50,000 50,000
ait 430,000
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No. A b5 B EHE | B & 8

SE8R—FIE

BEELGS Fithl 4500 m 2,800 126,000
B EPBASY 8500 m 1,700 144,500
BEAO#HME 9.00| 4Pk 8,000 72,000
B AR 10.00| 4P 9,000 90,000
a—+—# 1.00] = 35,000 35,000
B&EH 1.00f = 40,000 40,000
B A 1.00] 3 70,000 70,000
=111 577,500
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No. & b5 .| A | & (¥ 2| ¥ @ & &

AIE

FRARER 9.00| 4#FR 55,000 495,000
KKAR—ZAARBER  [AS53o4E1F 5.00| 4 At 45,000 225,000
YMBEAR—RE LT 1.00] = 50,000 50,000
R EEITE 100/ = 200,000 200,000
B&H 1.000 = 50,000 50,000
B AE 1.00] = 45,000 45,000
8t 1,065,000
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No. £ M .| A | & (¥ 2| ¥ @ & #8

RE4ETE

EXHmI/OREEY 23A 950, m 2,300 218,500
Bm/ORRY FIALA 230 m 2,300 529,000
REEE 21 JLEEY 800/ m 5,800 464,000
& RUYE{T 10f =& 50,000 50,000
thk 1.0 = 65,000 65,000
BEXE. ADKE —hi5Y 200 m 8,000 160,000
B EHETE 10| = 130,000 130,000
B&M 1.0/ = 35,000 35,000
ERBAE 10 & 50,000 50,000
=111 1,701,500
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No. 2 M BEH M HE & & K =
HAVIE
AT UL AGYRFAT—54
> 100] = 150,000 150,000 44 X ke, #iH
AQAUHSTyhs—hEEY 100] = 50,000 50,000
B&HM 100 = 50,000 50,000
ERBAE 100 = 50,000 50,000
=111 300,000
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No. £ M .| A | & (¥ 2| ¥ @ & &8 % =
EXR. 6Bk ZHRHBKTE
A S4k 12.00( 4R 8,000 96,000
a2t MEEESWIA 10.00| 4Pk 5,000 50,000
Bt 1.00 = 50,000 50,000
Rk it T & 1.00] = 150,000 150,000
B&EH 1.00] = 35,000 35,000
B A 1.000 = 50,000 50,000
1By LAA—Z{# A 1.000 & 35,000 35,000 |
@k i T & 1.00] = 70,000 70,000
BEH 1.00| = 20,000 20,000
E A 1.00| = 20,000 20,000
Eht#i (BEFBAD#IES)| 300 & 150,000 450,000 | EAREK
B&EH 1.00| = 30,000 30,000
B A 1.00] = 40,000 40,000
DUOBE, DEEA 1.00] = 70,000 70,000
BKE. SKEER 1.00] =t 25,000 25,000
&t 1,191,000
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No. 2 ¥OE|E A B ® &
HER
BISEEE 1.00] = 250,000 250,000
BIgEHE 1.00 = 150,000 150,000
SEE 1.00 = 150,000 150,000
&t 550,000
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